@ F A=A
B = AATHA]
T

G

il



2.

ohe I7lA X9 32




3.

Zh2t orY
C
/ \\\
! x
/ \
/ \
! \
20 \‘
|
‘ //’ \\
\
\ /12 y\
N \
AR - B
~15--

@ 24, 6 @ 20, 8 5

20, 5 @ 18, 8 ® 16, 9



4. o3 I"ollA AD//EF//BC & o, EF 9] Zo]&?

A _Hcm < D

@D 7em @ S8cm 3) 9cem @ 10cm 3 11lcm



5. & 994 AB, EH, DC7} BCo] A5} AB = 8cm , DC =
12em ¥ W], EH 2] do]=?

D
\
A \
\

I’ E 12cm
8cm /
v !
\ n /
B H C

@ 4.8cm @ 4.6cm ® 4.4cm

@ 4.2c¢m B 4cm



6. T I"IAM aABCS] Z W] F3°] A D, E, Folil, aDEF 9|
=99 do|7t 24 & o, AC o] o] & L5lodatf,




cm



E]-—j_ah,]-ﬂo] ge = i%lAsz}BAOMOH Hl=4:9 ol
£ A 9] 2117} 80em?® & o, BXE B o] Fuli=?

@Q
_®

=3

@ 260cm?® @ 270cm?® @ 280cm?

@ 290cm3 ® 300cm3



e % ol 24 F7IeHE the F Aol 5 mgo]

A
D
70; /\7\
B<— —0¢  E—320>F
~=-12cm---" 6 e
D /A =75° /(E="70° ® AB =9cm, DF = 6cm
® /B=65° /E =40° @ AC =8cm, DF = 6cm

® /B="75°, DE =12cm

=71



10. et ge = % o5
I 2 & A HA A AB £ A’B’ 7 t-gok= HY
— S W, xX 3y

o] 27
//zy D’
A o 12 : \
. . | I’ 8
V[ s
B A _ _ / / 7 ’
7o /H |/ ¢
/ //
2 G F
\1 -~ ~ !
0 ~x---" G

D 240
? 242 B 244 @ 246 B 248



2 1A 3 24 @ 3& B 4%

D 9t}



12, o2 I-37 o] /B = 90°% aABCO|A ACLBD ¢ ™, AABC 9]
Holg otu?

@ 20cm? @ 21cm? @ 22cm?

@ 23cm? B 24cm?



13. the 1%°] gABCD 4] AD//EF//BC, AE : EB = 2 : 3 o],
AD = 6em , BC = 15cm 9 o, PQ 9] Zo]=?

12 1 24
@ gcm @ gcm ©) Ecm
—cm ® 6cm



14. & 299l A GG & Z4ZF AABC,AADC 9] FAZFAloltt.
AGDG’ = 3cm? € W, AABE 9] YolE Fsloat,

A




15.

th2 1A AD+= AABCO &
Ao, = A G, G’ 27 AABC,
AGBC o] BA|FAHoltt,

AD = 18cm ¥ W], AG’ 9] do]E
Fato 2t

S EER
=

G\




ABCD °|A ¥ BC 9] 53& M °ol2t o},
A& Pt o, AABP 9] Hol?

D

I\
|
, 6ecm
I/’

j 1
B\\ M ,//C H

@ 5cm? @ 8cm? @ 10cm?

@ 12cm?2 3 15cm?2



17. AT Hrfjstke Alo]A2e] 7HA o] th= ®eb g2 ), xof g27?
Sl

(&, Alol3e] FA= £ HEEE Eom 7142 golof vl#gict
x129| Zo| 7t |
Small 20 cm 12,000%
Large 30cm ‘ z
@ 18,000 ¢ @ 24,000 & @ 27,000 ¥

@ 30,000 Y ® 33,000 ¢

q



18. The L B HIo|H L AL BE N2H?

B ~5cm- E ~5cm-
(1]
B7
@ ADBE 2 AABC © BC//DF
©® EF//AB ® ¢ADF = /ABC
@ AADF ¢ AABC

© 0606 © 0,60 ® 0,60
® ©, e ® O, 0,60



19. o5 "4 d 1= WAHolth
AB=3,AC=4,BC=6¢ 4,
AI:ID & +5HHA?

D 4:3 @ 5:3 ® 6:5
@ 7:6 B 8:5



20. t3 199l aABC °4 BC // DE °]1, A
PE = GCm,% = 5cm,® = 10cm 4 9,
AD : DB &=?

D
P[6cm”
D 1:2 @3:5 ® 3:2 / .

n
P5em Q™ ~10em-~
@ 34 3 2:1




21. & I3l H G 9 G2 A2 AABC 9 AGBC o] #ASA Ol

G'D =34, AG 9] Zo|& Hatofzt.
A




1 Aol A 40cm B iR F A H& A< 80km 2 F

o] L
100000
FEsh=d A= A7 Fotoet.
D 508 @ 55E 3 1A%t
B 2A|7F



23. o3 AthE]E ABCD oA AD =
4cm, BC = 8cm ©|th. AD 9] dAA 919
A E o tiste] BE7F nABCD 2] Hol&
ol5=< i, DE ] Zo]& 5tH?




mjn

o] Zo]

BC=20cm¥ @, AD

FN,

shelat.

?‘

b

C
=]

5]



25. oS 189 aAABC o4 H E, F =
BC 9] 45823 ¢]1 AB//DE // GF ©]t}.
AABC = 72cm? ¢ 1, oEFGH 9] Ho|&
“otofet.,



